
［夏期］高 2 英語総合 S 

語彙・文法 
［夏期第 4 講］ 

受講についての注意 

1   試験開始の合図があるまで，問題を見てはいけません。 

2   試験時間は 10 分です。  

3   試験用紙は全 7 頁です。過不足があれば担当講師に申し出てください。 

4   試験中に試験用紙の印刷の不鮮明，ページの欠落，乱れおよび汚れなどに

気付いた場合は監督者に申し出てください。 

5   解答は所定の用紙に記入してください。試験用紙以外への解答は一切認め

ません。 

6   受験者は，試験用紙の所定の欄に氏名を記入してください。 

7   解答は全て HB の黒鉛筆で記入してください。 

8  試験時間中の途中退場は認められません。ただし，気分が悪いなど身体の調

子が悪くなった場合は担当講師に申し出てください。 

9  試験終了の合図があると同時に，解答を終了してください。 

  

 



【1】 語彙 DB5500 701-750[配点 50] 

 

日本語の意味に合うように，英文の空所に入る語を選んで番号で答えなさい。  

(1)  DNA の複製法の誤りが時として破滅的なものになることもある。 

Sometimes mistakes in the system for copying DNA are (   ). 

①intrinsic ②zealous ③devastating ④fluid  
 
(2)  ダイオキシンは発癌性のある物質であると考えられている。 

Dioxin is thought to be a (   ) substance. 

①duplicate ②genetic ③carcinogenic ④pregnant  
 
(3)  最近までホームスクーリングは風変わりな考えをもつ熱心な親を連想させ

た。 

Until recently, home schooling was associated with (   ) parents having 

strange ideas. 

①occupied ②zealous ③consistent ④detailed  
 
(4)  幼児殺害と子の性別に基づく中絶の慣行が国の男女比を著しく歪めた。 

Infanticide and the sex-based (   ) have drastically skewed the nation's gender 

balance. 

①suicides ②abortions ③constraints ④abuses  
 
(5)  野生のミツバチを用いたネオトロピクスはコーヒーの集約的開発をもたら

した。 

The neotropics with feral honeybees has caused intensive (   ) of coffee. 

①improvement ②procedure ③exploitation ④adjustment  
 
(6)  大気中の核実験は死の灰を降らせることになる。 

Atmospheric testing of nuclear bombs leads to (   ) fallout. 

①carcinogenic ②devastating ③radioactive ④intrinsic  
 
(7)  現代のデータ処理やデータ通信の技術は重大な変化を生み出している。 

Modern data processing and data communications technologies are producing 

(   ) changes. 

①zealous ②devastating ③profound ④inevitable  
 
(8)  洗剤や人工肥料，そして殺虫剤は汚染物質となりうる。 

Products such as detergents, artificial fertilizers, and insecticides may become 

(   ). 

①calamities ②pollutants ③constraints ④chemicals  
 
(9)  太平洋での核爆発実験の後，放射能汚染の恐れがあった。 

There was fear of radioactive (   ) after the nuclear explosion test in the 

Pacific. 

①contamination ②emission ③pollutant ④malformation  
 



(10)  子どもは比較的容易に友だちをつくり，その関係を維持するものである。 
Children will find it (   ) easy to make and keep friends. 

①comparatively ②competitively ③consciously ④eventually  
 
(11)  アメリカの作家は合衆国以外では事実上著作権保護が得られない。 

American authors have (   ) no copyright protection outside the U. S. 

①eventually ②incidentally ③virtually ④urgently  
 
(12)  これらの除草剤はさまざまな形で雑草を攻撃する。 

These (   ) attack the weeds in a variety of ways. 

①herbicides ②pollutants ③chemicals ④abortions  
 
(13)  この街はボストンに著しく似ている。 

This city is (   ) similar to Boston. 

①remarkably ②vividly ③competitively ④evidently  
 
(14)  その車は時速 60 マイルまで加速するのに 5.3 秒かかる。 

(   ) to 60 mph takes the car 5.3 seconds. 

①Acceleration ②Adequacy ③Assertion ④Accuracy  
 
(15)  男らしさや女らしさの基準が変わるにつれて服装の流行も変化してきた。 

Fashions have changed as standards of masculinity and (   ) have changed. 

①celebrity ②morbidity ③ethnicity ④femininity  
 
(16)  大気中の二酸化炭素の存在が温室効果を生み出す。 

The presence of (   ) in the atmosphere produces the greenhouse effect. 

①carbon dioxide ②contamination ③defoliant ④malformation  
 
(17)  彼らは日本人が田舎くさいと感じるような意図的な仕掛けを考案した。 

They worked out a (   ) device to make the Japanese feel provincial. 

①intrinsic ②deliberate ③duplicate ④dominant  
 
(18)  ある調査によれば女性の半数以上が何らかの性的いやがらせを経験して

いた。 

A survey found that more than fifty percent of women had experienced some form 

of sexual (   ). 

①suffering ②discrimination ③harassment ④humiliation  
 
(19)  彼女の文化では，人びとは離婚に眉をひそめるよう仕向けられる。 

Her culture encourages people to frown on (   ). 

①distribution ②deficit ③divorce ④depression  
 
(20)  核廃棄物のいい加減な処理が原子力発電所事故の原因となった。 

Careless (   ) of nuclear waste led to the accident at the nuclear power plant. 

①pollutant ②emission ③erosion ④disposal  
 



(21)  何かをやりたいという理由で仕事をすることが，本来のモチベーションの

ありかたと言える。 

Working on a task because you want to do something can be referred to as 

(   ) motivation. 

①intrinsic ②composite ③genetic ④substantial  
 
(22)  ステレオタイプは，人びとが日常生活で観察するものを評価する際の重要

点として役立つ。 

Stereotypes serve as important points in people's (   ) of what they observe in 

everyday life. 

①criticism ②distinctions ③evaluations ④improvements  
 
(23)  DNA の複製システムは極めて正確だが，誤りが実際に起こる。 

Although the system for copying DNA is (   ) accurate, mistakes do happen. 

①apparently ②inevitably ③incidentally ④extremely  
 
(24)  アメリカ人パイロットたちは枯葉剤，つまり植物を殺す化学物質を農村地

帯全域に投下した。 

American pilots dropped (   ) -- chemical substances that destroy plant life -- 

over the countryside. 

①hydrogen ②chemicals ③pollutants ④defoliants  
 
(25)  賢い数学者なら公理から推論できるだろう。 

A clever mathematician could reason from (   ). 

①principles ②terms ③intuitions ④axioms  
 
(26)  学生は，自分が何をすべきか混乱するという状態に突然放り出された。 

Students have suddenly been thrown into (   ) about what they should do. 

①distribution ②disaster ③ignorance ④confusion  
 
(27)  危険な廃棄物は人間の健康や安全，あるいは環境にかなりの害をもたらす

可能性がある。 

(   ) can cause great harm to human health and safety or to the environment. 

①Pollutants ②Defoliant ③Malformation ④Hazardous waste  
 
(28)  この定義は見た目よりもはるかに内容のないものだとわかるだろう。 

You will find out that there is much less to this (   ) than meets the eye. 

①definition ②synthesis ③distribution ④principle  
 
(29)  ジェット機は速度を上げ，嵐や乱気流を逃れることができた。 

The jet could fly faster and clear of storms and (   ). 

①turbulence ②erosion ③acceleration ④calamity  
 
(30)  ある目的のためのテストは適切な基準に照合しての検証が可能だ。 

Tests designed for some purposes can be validated against appropriate (   ). 

①incentives ②criteria ③tokens ④procedures  
 



(31)  嘘をつく人が矛盾しない話をでっちあげることは難しい。 

It is difficult for liars to make up a story without (   ). 

①concessions ②controversies ③constraints ④contradictions  
 
(32)  その反動は科学の基礎たる西洋全体の伝統的な合理的思考に対するもの

である。 

The reaction is against the whole Western tradition of (   ) thought which is 

the foundation of science. 

①devastating ②rational ③intrinsic ④composite  
 
(33)  地球温暖化のせいで，海面上昇の割合が将来著しく増加するかもしれない。 

The rate in sea-level rise may increase significantly in the future due to (   ). 

①contamination ②global warming ③pollutant ④malformation  
 
(34)  そのような広大な真実という海が証明可能な定理の島を取り囲んでいる。 

A vast ocean of such truths surrounds the islands of provable (   ). 

①principles ②issues ③theorems ④intuitions  
 
(35)  その政治的基本政策は，世界貿易のシステムによって説明可能だ。 

The political (   ) can be explained by the system of world trade. 

①hypothesis ②doctrine ③assumptions ④analysis  
 
(36)  両親は私の体が絶対におかしいと確信して，私を病院に連れて行った。 

My parents took me to hospitals, convinced that there was something (   ) 

wrong with me. 

①frantically ②definitely ③eventually ④deliberately  
 
(37)  通信産業が疎外感をもたらしている。 

The communications industry causes (   ). 

①exploitation ②distribution ③alienation ④acceleration  
 
(38)  私のほうが彼女よりずっと料理がうまいと言っても誇張ではない。 

It is no (   ) to say that I am a much better cook than she is. 

①acceleration ②exaggeration ③proliferation ④exploitation  
 
(39)  サーフィンはハワイ人でない好奇心の強い有力者の関心を集めた。 

Surfing attracted the attention of some curious and (   ) non-Hawaiians. 

①affordable ②substantial ③dominant ④influential  
 
(40)  その理論は技術の変化が果たす重要性を力説した。 

The theory placed (   ) on the importance of technological change. 

①synthesis ②constraint ③interference ④emphasis  
 
(41)  ダイオキシンは容易には液体に溶けない。 

Dioxin does not (   ) easily in liquids. 

①dissolve ②enroll ③scatter ④shrink  
 



(42)  ある種の化学物質は胎児の正常な発育を変化させ，奇形を引き起こすこと

がある。 

Some chemical substances can alter the embryo's normal development and cause 

(   ). 

①contradictions ②abortions ③calamities ④malformations  
 
(43)  ウェブは結合していることを示すが，まったく組織的ではない。 

While the Web shows connectedness, it is (   ) disorganized. 

①eventually ②consciously ③vividly ④utterly  
 
(44)  その会議は水の平等な配給にもっと注意を払うように政府を説得した。 

The conference persuaded governments to pay more attention to the fair (   ) 

of water. 

①intervention ②contribution ③subsidy ④distribution  
 
(45)  この言葉は，十分に成熟していない 10 代の若者を指す。 

This word denotes a teenager who has not reached full (   ). 

①diversity ②maturity ③celebrity ④seniority  
 
(46)  大気中の二酸化炭素の濃度が増えているのは，化石燃料を燃やしているこ

とが主な原因である。 

The increasing concentration of CO2 in the atmosphere is due largely to the 

burning of (   ). 

①disposals ②pollutants ③hazardous wastes ④fossil fuels  
 
(47)  兵士たちは敵の攻撃を警戒していた。 

The soldiers were (   ) for the enemy's attack. 

①alert ②occupied ③intrinsic ④zealous  
 
(48)  新型の車には排気ガスの放出を著しく削減する排出物質規制装置が備え

られている。 

Newer cars have (   ) control devices that significantly reduce the output of 

exhaust gas. 

①alienation ②emission ③turbulence ④proliferation  
 
(49)  友好な関係を維持したい人もいるし，現在の配偶者がこれを促す場合もあ

る。 

Some want to keep up friendly relationships, and their current (   ) even 

encourage this. 

①spouses ②peers ③celebrities ④eccentrics  
 
(50)  現代人にはわからない古英語は，比較的少数の人びとによって話されてい

た。 

Old English, incomprehensible to modern ears, was spoken by (   ) few 

people. 

①consciously ②relatively ③competitively ④deliberately 
 

 



【2】Next Stage分詞・動詞の語法[573-601] [配点 30] 

 

空所に入れるのに最も適切な語句を，下の①～④から１つずつ選びなさい。  

(1)  The catalog (  ) that this year's model is slightly cheaper than last year's. 

①speaks ②tells ③talks ④says 〈センター試験〉  
 
(2)  I heard somebody (  ) my mother about the accident, and I noticed that the 

news upset her. 

①tell ②say ③talking ④speaking 〈関東学院大〉  
 
(3)  When Henry is angry, the expression on his face (  ) me of his grandfather. 

①reminds ②recalls ③remembers ④recollects 〈京都産大〉  
 
(4)  Any delay in delivering the goods will (  ) us a lot of trouble. 

①produce ②cause ③lead ④result 〈近畿大〉  
 
(5)  Bad weather (  ) me to stay in London for three more days. 

①checked ②made ③prevented ④compelled 〈防衛大学校〉  
 
(6)  The class (  ) the problem. 

①discussed about ②discussed 

③discussed on ④discussed with 〈東京経大〉  
 
(7)  The plane was (  ) London in dense fog. 

①approaching to ②approaching toward 

③approaching at ④approaching 〈武庫川女子大〉  
 
(8)  He proposed that another meeting (  ) next week. 

①will be held ②may be held 

③was held ④be held 〈慶應義塾大〉  
 
(9)  Do you think he (  ) his father? 

①resemble after ②resembles to 

③resembles ④resembles with 〈同志社大〉  
 
(10)  A man is in danger of (  ) wrong when he is made much of. 

①going ②taking ③having ④growing 〈北海学園大〉  
 
(11)  Any dictionary will (  ) as long as it is an English dictionary. 

①go ②do ③use ④come 〈明治大〉  
 
(12)  What (  ) you to change your mind? 

①let ②caused ③had ④thought 〈関西学院大〉  
 
(13)  I would not (  ) anything if I were you. 

①speak ②say ③tell ④talk 〈大阪経大〉  
 
(14)  During this period the foundation was (  ) for many Japanese traditions. 

①lied ②laid ③lay ④lain 〈千葉商大〉  
 



(15)  The manager told us he would (  ) the price next week. 

①rise ②raise ③rising ④rose 〈関東学院大〉  

 

【3】読解空所補充 [配点 20] 

The question which comes first ― society or the individual ― is like the 

question about the hen and the egg. (   1   ) you treat it as a logical or as a 

historical question, you can make no statement about it, one way or the 

(   2   ), (   3   ) does not have to be corrected by an (   4   ), and equally 

one-sided,(   5   ). Society and the individual are inseparable; they are 

necessary and complementary to each other, not opposites.  

① statement ② whether ③ which ④ other ⑤ opposite 

 
 
 


